A ecdbak

TRF100- IM-01

TRF100

TROLLEY WITH ROTATIONAL HEAD AND HEIGHT ADJUSTMENT
WOZEK FLIPCHART Z OBROTOWA GLOWICA




A ecdbak

INSTALLATION MANUAL
INSTRUKCJA MONTAZU TRF100- IM-01

A Warning

Please read this manual before starting the installation to ensure correct assembly.

The assembly should be carried out innnn accordance with this manual by at least two

fully qualified people. The EDBAK Company shall not be liable for any injuries or damage to

material or property caused by incorrect assembly. Hence please ensure that:

» during the assembly all the instructions are followed carefully. Failure to do so
may result in damage to the product or property, or even personal injury;

» before assembly you must ensure that there are no power cables, or water,
sewage or gas pipes in the area of the ceiling where the mount is to be fixed;

* when attaching the projector to the mount, please ensure that the screws are of
the correct length and diameter. In order to ensure the correct fit, use the plastic
spacers supplied. Use of the wrong screws may result in permanent product
damage. Extra caution should be taken with movable parts in order to avoid
crushing or pinching your hands or fingers. The movable parts are identified in
this manual.

The terms of the product guarantee are detailed in the guarantee card.

Ostrzezenie
A Przed rozpoczeciem montazu nalezy uwaznie zapoznac sie z instrukcja uchwytu
oraz ekranu w celu zapewnienia prawidtowego montazu.

Prace montazowe powinny wykonywac¢ co najmniej dwie osoby posiadajgce kwali-

fikacje w zakresie montazu zgodnie z niniejsza instrukcjg. Firma EDBAK nie bierze

odpowiedzialnosci za straty materialne oraz uszkodzenia mienia lub ciata, wynikajace

z nieprawidtowego montazu. Dlatego nalezy zawsze przestrzegac:

» w trakcie montazu doktadnie przestrzega¢ zataczonej do produktu instrukcji
montazowej, w przeciwnym razie moze to prowadzi¢ do zniszczenia sprzetu,
a nawet uszkodzen ciata,

» koniecznie przed montazem upewnic sig, ze pod powierzchnig $ciany, na ktorej
bedzie mocowany uchwyt nie ma kabli elektrycznych, rur wodnokanalizacyjnych
lub instalacji gazowych,

» w trakcie montazu ekranu do uchwytu upewni¢ sie, ze uzyte sruby sg dobrze do-
brane co do dtugosci i srednicy. W celu idealnego dobrania dtugosci srub mozna
skorzysta¢ z dofaczonych podktadek plastikowych. Zastosowanie niewfasciwych
$rub grozi trwatym uszkodzeniem sprzetu,

* w miejscach wskazanych w instrukcji, w ktérych sg ruchome elementy uchwytu
zachowac szczegolng ostroznos¢ w celu unikniecia przycisniecia, dtoni i palcow.
Warunki gwarancji wg zatgczonej do produktu karty gwarancyjnej.

2 22.03.2019, TRF100 - IM-01



A edbak

TRF100- IM-01

o
**

@I@:) $70-10x25 AA 4x

- M8x16 BB 8x

M5x20 cC 8x

M5x12 DD 8x

M8x10 EE 4x

g M8 FF 4x

M8x20 GG 4x

M8x30 HH 2x

) B— M6x40 I ax

—0 4mm 1 1x

||| O 5mm KK 1x

22.03.2019, TRF100 - IM-01



PART I.,IST
LISTA ELEMENTOW TRF100- IM-01
—
&/,

(o]

M4 x 20 A01 4x

) M5 x 20 A02 4x

M6 x 20 AO3 ax

M8 x 20 A04 4x

fi15xfi84x5 A05 4x

@ fil5xfi84x10 A06 4x

M8 A07 4x

M5 x fi14 A08 4x

“l O 3mm A09 1x

||| O 4mm A10 X

“l O 5mm A1 1x

“l O 6mm A12 1x

22.03.2019, TRF100 - IM-01



A edbak

PART I.IIST
LISTA ELEMENTOW TRF100- IM-01

A 1x

2X

4x
D 1x
E 2X
F Tx
G 1
H Tx
J 4x

22.03.2019, TRF100 - IM-01



TRF100- IM-01

ASSEMBLY
MONTAZ

A edbak

22.03.2019, TRF100 - IM-01



TRF100- IM-01

A edbak

ASSEMBLY
MONTAZ

22.03.2019, TRF100 - IM-01



A edbak

ASSEMBLY
MONTAZ | TRF100- IM-01

8 22.03.2019, TRF100 - IM-01



